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INSTRUCTIONS TO CANDIDATES

{Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Wishin 10 minutes of the issue of the Question Booklet, check the Questicn Bocklet to ensure that it
comtains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

2. Donotbring any loose paper, written or blank, inside the Examination Hall exceps the Admit Card
without its envelope. '

3. Aseparate Answer Sheet is given. It should not be folded or mutiiated. A second Answer Sheet
shall not be provided. Only the Answer Sheet will be evaluated.

4. Write vour Roll Number and Serial Number of the Answer Sheet by pen in the space provided
above.

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided af
the top and by darkening the circles at the botiom. Also, wherever applicable, write the Question
Bookle: Number and the Set Number in appropriate places. :

6. No pverwriting is aflowed in the entries of Roll No., Question Booklel no. and Set no. (if any)
on OMR skeet and Roll No. and OMR sheel no. on the Question Booklel,

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be aken
as unfairmeans.

8. Each question in this Booklet is followed by four afternative answers, For each question, you
are (o record the correct option on the Answer Sheet by darkening the appropriate circle it the
corresponding row of the Answer Sheet, by pen as menfioned in the guidélines given on ihe
first page of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer witl be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed. If you do not wish to attemp! a
question, leave all the circles in the corvesponding row blonk (such question will be awarded
zero marks).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this .
Booklet.

12, Deposit only OMR Answer Sheert at the end of the Test.

£3. You are not permitted to leave the Examination Hal! until the end of the Test.

14. If a candidate attempts 1o use any form of unfair means, he/she shall be liable to such punishment as
the University may determine and impose on him/her,
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No. of Questions : 100
et = WEAT : 100
Time : 2 Hours Full Marks : 300
w9 ; 2 g2 quIfE : 300

Note : (1) Attemnpt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

st wel & B T H AT HY | HedH 997 3 (W)
ST W B A T duv # fm owm o% wer wma
gelieh I WER 1 WIEiH g BRI

(2) If more than one alternative answers seem te be approximate to
the correct answer, choose the closest one. '

afE wefers Jepfeas 9T 98 3L B Mehe WA &I, o Fepead
qE IO T

Directions : (Questions No, 1 to 4) : Read the passage given below
and answer questions ! to 4 according to the contents of the passage :

Of the many aspects of public administraticn, the ethical aspect is
perhaps the most important but the least codified. While administrative
rules and procedures have been codified in varicus public docuiments
and manuals, there is no manual {or the ethics of public servants.

While organisational behaviour analyses the factors which influence
the behaviour of individuals in an organisation, ethics refers to those
norms and standards which behaviour of the people in an ogranisation
must conform to. While behaviour analysis deals with factual aspects,
ethics relates to the normative aspects of administration. The normative

3 P‘T IOI
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01.

03.

aspects are of the greater significance. Just as for an individual if
character is lost, everything is lost, so also for an administration if
the ethics is lost, everything is lost . Neither efficiency nor loyalty
could be substitute for high ethical standards. In India, though there
is no ethical code for public administraters, there are what are called,
Government Servants Conduct Rules. These rules laydown what
canstitutes misconduct for the public servants. [t is apparently implied
that such misconduct, which is not permitted, is alse unethijcal
conduct,

As per the passage, organisational behaviour is :

(1) same as ethics in organisations.

|2) different from ethics in organisations.

(3} human behaviour in organisations including ethics.

(4) concerned with the behaviour of the top management.

Ethics is to an administration what character is for :
(1) an administrator (2] an official

(3} an individua} (4) a company

Government servant's conduct Rules are meant for

(1) guiding the ethical conduct of government servants.

(2} guiding what constitutes misconduct fer public.

(3) guiding what constitutes misconduct for government servants,

(4) guiding what constitutes misconduct for the families of
gévernment servants.
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05,

06.
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The underlined word "manuals’ in the context of the given passage

means :
(i) hand cperated (2) physical
(3] guide book (4) man made

Directions : (Questions No. 5 to 9) : Read the passage given below
and answer questions 5 to 9 according to the contents given in the
passage |

it is difficult to reconcile the ideas of different schools of thought on
the guestion of education. Some people maintain that pupils of school
should concentrate on a narrow range of subjects which will benefit
them directly in their subsequent careers. Others contend that they
should study a wide range of subjects so that they not only have the
specialised knowledge necessary for their chosen careers but also
sound general knowledge about the worked they will have to worte
and live in . Supporters of the first theory state that the greater
contributions to civilization are made by those who are expert in their
trade or profession. Those on the cther side say that, unless they
have a broad general educaticn, the experts will be too narrow in
their outlook to have sympathy with their fellows or a proper sense of
responsibility towards humanity as a whole.

What is the passage about ?

(1} Reconciliatien of two different ideas about education.
(2) Projecting two different ideas about education.

(3) Career-oriented education.

(4] Broad- based education.

According to the passage which one of the following statements is
true about broad general knowledge ?

(1}  Without it nobody would get a job.

(2] Specialisation is incomplete without it.
(3) It teaches us about different things.
(4} It broadens one's outlook.

5 P.T.O.



15P/291/2

07. Supporters of the first theory would not agree with the statement :

08.

0S.

10.

(1) “experts have contributed mosi to the progress in the modern
world.”

(2) “"students should study a few subjects that will help them in
their prefession.,”

(3} "people with broad general education have not contributed much
to civilisation.”

(4} "students should not undertake any specialised work.”

"School of thought' can best be explained as :
(1} groups of people who are schooled to think.

{2] groups of people having different perceptions on a particular
subject,

(3) groups of people belonging to different schools.
(4) groups of people whose job is to think,

According to the second of thought education will not be very effective,
if students :

(1) do not have a wide general education.

(2) have inadequate knowledge of their own work.
(3) ignore the study of fine arts.

(4) concentrate on enly a few subjects.

Directions :( Questions No. 10 to 14): In each of the following
questions a word in capital letters is followed by four words. Cheoose
the one which is similar in meaning to the word given in the capital
letters.

ﬁ?ﬂ;&mm 10 & 14 ) Prefofan sds 099 d o 9=

T3 S F R T & qur o9 A 9 g R g ¥ sE A

SH 9= & g™ T e a7 92 wed § Re 1 g @ aped
)

F "I o

FLUCTUATION
{1} Inercase (2) Change
{3} Slabitity {4) Decrease
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14,

15,

16l

17.
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TRIVIAL

(1} Significant (2) Momentous
(3) Unimpertant (4) Critical
RIVALARY

(1} Competition (2) Cooperation
(3] Compromise (4) Campaign
APPEASE ;

(1) Agitate (2) Pacify

(3) Qualify {4} Interrupt
PROCRASTINATE

(1} Multiply {2) Irregular

(3) Postpone {4) Predict

Directions : (Questions No. 15 to 19) : A word in capital letters is
followed by four words. Choose the word that is most nearly opposite
in meaning to the word given in capital letters,

fﬁ!ﬂ Ued HEAT 15 § 19 ) Uk v g2 ow o Ry mar @

R §E ﬁm B 59 8 oF 09 = W g
ﬂ%ﬁuﬁwa?éaé ﬁqu%aémﬁuﬂaﬁrl
GRADUAL
(1} Energetic (2) Dynamic
(3) Rapid (4) Enthusiastic
PERTINENT
(1} Appropriate (2) Pleasant
(3) Extrancous (4) Paltry
AMALGAMATE
{1} Merge : (2) Consecrate
(3) Impoverish (4) Split

7 PI T.ol



15P/291/2

18.

19,

20,

21.

22.

ASSET
(1] Credibility
(3) Poverty

DOCILE
(1} Unmanageable
(3] Submissive

Directions : (Questions No. 20 to 23) : Each of these questions contain
a pair of two words written in capital letters. Keeping in view the
relationship between these twe wards, select a pair of words from the

(2)
(4)

(2]
(4)

liability
Prosperity

Duriful
Painful

alternatives that illustrates a similar relationship :

ﬁim:(gﬁa‘ﬁmzuﬁzaﬂzﬁ)aﬁmﬂﬁqmuﬁmnﬁ
ﬁa@-ymﬁﬁmwﬁ&@w%ﬁa%:ﬁwﬁﬁa%
Hraﬂﬁmﬂ?ﬁﬁgqﬁqmﬁﬁmﬁﬁﬁ%w@@%

F FAT *®IFC S G99 F== Twifar 8

DRAMA : DIRECTOR : :

(1} Mavie : Scinarig

{3} Magazine : Editor

Room : House ; :
(1) Chair : Room
(3) Wheel : Car

MANAGER : OFFICE :-

(1) Dector : Palient
{3) Bank: Account

- WHISPER : SPEAK ::

{1] Listen : Bear
(3) Brush: Touch

(2)
(4)

(2)
(4)

(2]
(4)

{2}
(4)

Hope : Optimist
Anchor : Play wright

Cabin : Ship
Cockpit : Plane

Curatost : Museum
tf'ruit : Seed

Request : Ask
Heat : Chill



24.

28,

26.

27.

28.

29.
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Directions : {Questions No. 24 to 28) : Each of the fellowing questions
contains four words of which three are interrelated. But one does not
belong with other three words. Find out the odd word :

Fer : (397 wear 24 § 28 %) : Preffag @ gew ¥ 4
= R ¥ R & o omow 7 wvaee ¥ oveg o ae A9 B
U 9T F YAl SR |

(1} Inch (2)  Ounce

(3] Centimeter : (4) Yard

(1) Balm (2) Comfort

(3) Key board (4) Console

(1) TInsaliable (2) Huge

(3) Excessive (4) Enormous
(}) Superb (2) Superlative
(3) Wonderful (4) Fabulous
(1) Guitar (2) Flute

(3) Violin {4} Veena

Directions : (Questions No, 29 to 32) : Fill in the blanks by selecting
the correct option :

P : (e e 29 & 32 ) : wE Rew & g w0 R
it = gid i

If you don not ....... » all your monthly expenses would exceed your
income.

(1) economise (2) spend

(3) save (4) care

9 P.T.O.
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30. The magician ........... the rabbit into a pigeon.

31l

32.

33,

34.

35.

(1} transformed 2] transfigured
(3) converted (4) made

Criticism that tears down without suggesting areas of improvement is
POt s and should be avcided if possible :

(1} constructive (2) mandatory
(3} pertinent (4) sugacious

Many educators believe that bilingual education has proved to have
definite ......... education in any one tongue.

(1) correlations with {2) limitations on

{3] advantages aover (4) eannotations for

The sum of first 45 natural numbers is :

TUH .. OBl SR & arT B o
(1) 2070 (2) 1035 (3] 1280 (4) 2140

Introducing a girl, & boy said, "she is the daughter of the son of the
father of my uncle." How is the boy related to the girl ?

(1} Brother (2) Sister
(3) Uncle {4) Nephew

U SR 1 g hd B0 OFF aieieh - el ‘a8 AR AT & fuen
& 2 S By Awh 9 AfEeR o oar dEy B 7

(1) =18 (2) =B

(3) =TET (4) ST
ADHMS -

(1] X 2) z (3) W 4) J

10
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37.

38.

39-

40.
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16, 32, 25, 50, 43, 86 -
(1) 172 2) 159 3) 79 (4) 96

A is shorter than B but much taller than E. C is the taliest and D is
little shorter than A. Which one is the shortest ?

AS FaE B AT ¥ R E A o &1 ¢ Fard waifts & AW
DR FTE AT PRI AR A ST Tma B 7
(1} B 2} C (3) D 4) E

A is 3 years older than B and 3 years younger to C while D and B are
twins. How many vears olderisCto D ?

A% oy BY 3 ad & @ gen ¢ & 3 A w9 & w@fB D0
B 9l 81 C @ oMy D &t e Brem, aifdes B °
(1) 6 (2) 3 (3) 2 (4) 12

CMM, EQO, GQQ, ----, KUU.
(1) VRR (2) GSS (3) 188 4) [T

One morning Udai and Vishal were talking to each other face to face
of a crossing. II Vishal's shadow was exactly to the left of Udai, which
direction was Udai facing ?

(1) South (2) North

(3) West (4) East

o GEE II9 a7 PN U G 9 O GEL B AR @9 EET
a1 T T2 o | afs fsner @ afafe o & REpe 9] 9% 1@
S 39a TR Rem #i ok 3@ @ ar ¢

(1) &g (2} IET
(3) wig=mw 4] 9

11 P.T.O.
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41.

42.

431

45.

46,

Directions : (Questions No, 41 to 43} : Find thq correctly spech words

(1) Pasanger (2] Pessenger
(3) Passenger (4) Pessanger
(1) Sissors (2) Scissors
(3] Sisors (4) Scisors

(1) Picturesque {2) Picturous
(3) Picturus (4) Pictureous

Directions :(Questions No. 44 to 48) : In each of the following
questions, & sentence is given in one voice (active/ passive). Qut of the
four aiternatives select the one which best expresses the same
meaning in another voice (passive/active) :

Open the door :

(1) The door must be opened (2} The door will be opened
(3) The door is opened (4] Let the door be opened

1 did not trust any body :

(1) No body has been trusted by me
(2) No body was trusted by me

(3) No body I trusted on

(4) No body trusted on me

He hasn't slept in his bed :

(1) He has not been slept in his bed

{2} His bed has not been slept in

(3) His bed has not been slept in by him
(4) His bed had not been slept in

12
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43.

49.

50.

15P/291/2

| was recommended another lawyer :

(1) somebody recommended another lawyer

(2) somebody recommended me another lawyer
(3) somebody recommended me to another lawyer

(4) somebody recommended to another lawyer

Must we cut this tree :
(1) Must this tree be cut (2) Must this tree should be cut
(3] Must this tree be cut by us (4} Must this tree be cut

In a particular locality , 70% persons arc male and 30% persons are
married. If 2/7 of males are married. What proportion of females is
single ?

wﬁmﬁmﬁ?o%mgm%msc%ﬁnﬁmﬁﬁ%wﬁ
3@%2;?%%@%511%@#@#—31%%

B 7
(1) 2/3 2) 1/3 (3) 2/7 4) 37

The numerator and denometor of a fraction is in the ratio of 2:3. ifé
are deducted from the numerator, the value of the fraction becomes
2/3 of the original fraction. What is the numeration of the fraction ?

ﬁﬁﬂ%ﬁﬂﬂﬁmﬂqﬁz:aﬁiqﬁmﬂﬁsmﬁm
ﬁﬂﬁﬁﬂﬁiﬂﬁ%ﬁ?%ﬁﬂwsﬁmﬁlmﬂ
S Fm ® ?

(1) 18 (2) 16 (3] 30 (4) 21

13 P.T.O.
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s1.

5‘2.

53,

Directions : {Questions No. 51 to 85) : A bag contains 3 red, 4 blue
and 5 green balls :

ﬁ&ﬂ={ﬂﬂm51ﬂss):%@ﬁﬁ3ﬁm,4wm
580 Wz ¥ .

If three balis are picked up at random, what is the Probability that g}l
are blue ?

ﬁﬁ%-w@%ﬁﬁ%mﬁmﬁwmm
& &% & e @y 7

(1) 5,12 (2) 1715 (3) 1/4 (4) 3/22

If two balls are picked up at random, what is the probability that
both are either blue or both are green ?

(1) 4711 2) 174
{3} 8/33 (4) 3/4

If four bails are picked up al random, what is the probability that two
are red and two are green ?

14
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56.

57.
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If two balls are picked up at random, what is the probability that at
least one is green ?

uﬁﬁﬂﬁa—mmaﬁ%mﬁﬁmﬁrmﬁwm%ﬁﬁ
mﬁﬁwﬁm@mﬁn?

(1) 7/32 2y 5/12 (3) 5/22 4 1/6

If three balls ar¢ picked up at random, what is the probability that

none is red ?

ﬁ%ﬁ*ﬂﬁm%ﬁﬁiﬁﬁﬁm?ﬁﬁﬂﬂmﬁm%
ﬁiaﬂﬁﬁéﬁmﬁﬁﬁ?

(1] 4/11 (2) 2/33 3) 1/4 @) 21/91

How many tangents can be drawn to two non infersecting circles ?

ﬁaﬁ%qﬁﬁﬁmﬁ%mﬁﬁmﬁw&@ﬁwmﬁt
7
(1) 1 (2) 2 (3) 3 (4) 4

If ane -third of cne- fourth of a number is 15, then three fourths of

that number is

15 P.T.O.
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8B. In the figure given below, 0 is the centre of the circle. Jf ZOBC = 37¢

60,

what would be the measureinent gf ZBAC ?

%Eﬂﬂqfﬁ?ﬂ’ﬁﬁw%‘ﬁﬂ%iﬂﬁ'5030=37°. £ BAC &
Y T Enf P

months when one bay aged 18 ¥rs. is replaced by a new boy. What is
the age of the new boy ?

SH BT T 20 wed; & 4 A 18 af it F U% wER &
5 a k- R R
Ty s T s s 3 e e
(1) 14 Yearg (2] 14 years 8 months

(3) 16 years (4) 16 years 4 months

A watch wag sold at a loss pf S%. Had it been soid for Rs, 45 more,
there would have been g gain of 10%, What is the cost of the watch po

TF gt 5% BIfY qv T 3 S Ry " o 45
W@mglﬂ%?ﬁfmﬁ ;Er‘gﬁa-ﬁiﬂm(-,r'.xar*rr 2r P

(1) Rs. 325 (2) Rs. 350

(3] Rs. 300 (4} Rs. 375

16
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Directions : study the folloewing diagram carefully and answer
questions No. 61 to 66.

#%F&qwﬁrﬁmmﬁzﬁmwaﬁﬁqmmﬁwslﬁ
66 oF =¥ IT¢ AT |

/2 [N

12 10} 3

11

/5 N

Notes :

fareqforgt

(i) Rectangle represents male.
e geu N wEar ¥

(ii) Trangle represents educated.

Py fafir @ wfen B
(iii)Circle represents urban.
AT e @ i ¥)

(iv) Square represents civil servants.

et @ Gaw 31 qaten ¥

61. Who among the following are educated males but not urban residents ?

ﬁmﬁiﬁﬁrﬁfﬁaﬁaﬁﬁﬂwﬁqﬁmw%?
(1) 9 (2) 4 @ 11 (4) 5

17 P.T.O.
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62,

64,

65,

66,

Who among the following are female urban residents and alsg civil
servants ?

ﬁw%%ﬁﬁ%maﬁ#%aﬁ%wﬁmﬁaaaﬁf%?
(1) 7 (2) 10 (3) 13 4) 8

male but urban 7

ﬁwmaaaaﬁaamaﬁm-m%,ammﬁaﬁmﬁm
¥ U a7

n 7 (2] 3 ) 10 (4) 13

Who ameng the following are edycated male belonging 1o urban area ?

ﬁmﬁ%ﬁﬁﬁaﬁﬁaw%wm%ﬁw%?

(1) 2 2) s {3y 4 (4) 1t

Who among the following are educated female but neither urban
residents nor civil Servants ?

ﬁwﬁf@aﬂﬁﬁ?f?ﬁ% Wﬁ‘e@ﬁﬁvﬁwﬁmgeﬁ?qa
TF B ¥ e

{5 (2} 7 (3] 9 (4) 3

Who among the following are urban male and also ciyi] servants 7

ﬁwﬁ%ﬁﬁﬁﬁ?mw%ﬁﬁﬁﬁmﬁ'ﬁﬁ??
(1) 12 (2) 10 (3) 13 (4) 7

18
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Directions ; Study the following table and answer question No. 67 to
72
ﬁmﬁmﬁaﬁ{ﬂmwaﬁrﬁﬂqwnﬁﬁwsvﬁnm
Iy AT

Expenditure of a Company (in lakh of Rupees) over the given years
F&qmaﬁﬁwmﬁmaﬂ%m{mmﬁﬂ)

1TEM OF EXPENDITURE =T & W
Year|Production Beuinai & pistribution Administrative Taxes
Cost Cost Cost

ad | TenET @ faww wd T ATTRY Qe W L
2010 325 100 55 15
2011 319 104 56 14
2012 310 111 55 14
2013 304 115 54 15
2014 300 118 56 13

&7. Whatis the average amount of annual taxes that the company had to
pay during the period 2010-2014 ?

{1} Rs. 16 lakhs (2) Rs. 14 Lakhs

(3] Rs. 14.2 Lakhs (4} Rs. 15 Lakhs
2010%2m4%ﬂﬂmﬁﬂ%ﬁ;ﬁﬁraﬂﬂﬁmﬁmﬁww
AT ST 7

(1) Fo l6wrd (2) To l4 T

(3) To 14.27E (4) Bo 15 @

19 P.T.O.
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69,

70.

71.

What is the ratip between average 'Production Cost' and average 'Cost
of Selling and Distribution’ »

'eﬁﬂa*mﬁm’w%‘ﬁmqﬁﬁmw’w%ﬁaw

ST & 7

(1) 3:2 (2) 2.8:1 (3) 1.8:1 (4) 2:1

On an average what is the ratio between ‘Production Cogt’ and
‘Administrative Cost’ ?

{1 Jncreasing (2) FIuctuating
{3} Dmrcasing (4) Stagnant
2010-2014 & g Frqre T B gy St o »
(1] SwiEy (2) ufiadiyg

(3) Free (4) Feqrene

What has been the trend of ‘Belling and Distribution Cost' during
the period 2010-2014 »

(1) Increasing (2) Fluctuating

(3) Decreasing (4]  Stagnant

2010-2014 % 5oy ‘Fagmy gy faereor @rme & nafty &t o 2
(1) Ferdnye (2) oftedg

3) e (4) TwrEg

20
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72 What has been the triend of 'Administrative Cost’ during the period

2010-2014 ?

(1) Increasing (2) Fluctuating

(3) Decreasing {(4) Stagnant
2010-2014 & WA ‘HRTEEH AT % uafer & 491 7
(1) IEAET (2) ofEas

(3) PR (4) BuUEd

Directions : Read the following information carefully and answer
‘question numbers T3 t0 78 :

M@ﬁwﬁmgﬂmq@qmnﬁﬁ@rm%nmw
I@T T

In a car exhibition, seven Cars of sevenn companies viz, Cadillac,
Ambassador, Fiat, Maruti, Mercedes, Bedford and Fargo were
displayed in a row facing east in such a way that :

mﬁ@mﬁﬂﬁmmﬂﬁtﬁ-%ﬁmﬂi,qﬁw,qﬁ,
W,Wwwﬁ-ﬂmﬁwﬂmﬁamw
TR @E B e R
{iy Cadillac can was 10 the immediate right of Farge.
Afxers FT HOT % T A ST 411
(ii) Fargo was fourth to the right of Fiat.
G feme @ wiEe ofT =T S ofF |
(iii) Maruti car was between Ambassadar and Bedford.
ArER W TAAST T Fepd & Aw 7 A
(iv) Fiat, which was third to the left of Ambassador car, was at one of

the ends. E
W,#Wﬂﬁmmmﬂﬁ,ﬁﬂﬁwﬁﬂﬁ

7a. Which of the following shows the correct position of Mercedes ?
(1) Immediate right of cadillac (2} Immediate left of Bedford.
(3) Between Bedford & Fargo. (4) Third to the right of Maruti.

21 ‘ P.T.O.
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75-]

76.

(1) %%am%aﬁaswi‘ﬁreﬂ?
2) F=9E B e w7 oy
(3) ﬁsﬁémtﬁmﬁ%wwﬁ

(4) mﬁr%mﬁ#aﬁvéﬁﬂ%mw

- Which of the following is true g

(1) Fargo caris between Ambassador and Fiat,

(2] Cadillac car is to the immediate left of Mercedes,
(3) Fargo is on the immediate right of Cadillac.

(4) Maruti is fourth to the right of Mercedea,

Which cars are on the immediate cither sides of the codillac car 7
{1} Ambassador and Marut; (2) Maruti ang Fiat

(3) Fiat and Mercedes {4) Fargo and Mercedes
%ﬁaﬂmm%aﬁaﬁwﬁfaﬁfmzﬁm—mm?? |
(1) 72T vy Aty (2) =Ry oF fpoe
(3) oz oo wigdy (4) WO oF wffaor

Which of the lollowing i trye

(1) Maruti is to the immediate left of Ambassador.
(2) Bedford is to the immediate left of Fiat,

(3] Bedford is at one of the ends

{4} Fiat is second to the right of Maruti,

22
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73.
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g S § F ot & 7
(1) s B IF S A HEH 8

(2) fFuE & e o AR AT ¥
(3) FepE A & o BN W 2
(4) areRy & SRl it gEY W T e B

Which of the following groups of cars is to the right of the Ambassador
car ?

(1) Cadillac, Fargo and Maruti

(2) Maruti, Bedford and Fiat

(3) Mercedes, Cadillac and Fargo

(4) Bedford, Cadillac and Fargo

ﬁmﬁf@aﬂﬁmmiﬁﬂ-maﬁq@aﬂm%maﬁ{% |

(1) Sfees, GO OF "SR
(2) wTERN, ABEE oo T

3) wfdre, dfzes & B
@) Jewrd, dfzems wd SN

Which of the following industrial cities of India in popularly called
the 'Manchester of East’ ?

(1) Kolkata (2) Kanpur

(3) Surat (4) Mumbai
W%ﬁmﬁ!ﬁﬂﬂammmﬁfﬁﬁmﬁ'ﬁﬁmm%ﬁ’
HEd & 7

(1) =Herehal (2) HAIL

(3) ¥= (4) TR
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79,

80,

81.

B2,

The minimum age required to become the Prime Minister of India is :

(1) 30 Years (2) 40 years

(3) 35 years {4 25 vyears

W F e A= e $ R MUEACLIE oL Ul
(1) 3¢ z¥ (2) 40

{3) 35 o (4) 25 ag

The minimum Age required to become the President of India ig :
(1) 25 years (2) 35 years

(3) 30 years (4) 40 years

T ﬁimﬁaﬁﬁﬁqﬂﬁmwmtr
(1) 25 a§ {2) 35 g§

(31 30 a9 (4) 40 o

The importance of Bombay High ljes in its :

(1) Enchanting beach {2} Climate

(3) Monuments (4) 0Oil

T B P e B oy & 5% :

(1) T aqr-ge (2)

(3) e (4) e

Who was the founder of the Mughal Empire p

(1} Babar (2) Akbar

(3) Humayun (4) Ala-ud-din Khilgi
I HHR 5 Heqrrs e ey o

(1) =97 (2) STFeT

(3) &g (4) Sremegd farerh
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85.
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Which country will host ICC T- 20 World Cup in 20167

(1) Pakistan (2) England

(3) Australia (4) [ndia

2016 # aMEcdtodlo .20 avS &9 & FAwET AT 5T O 7
(1) 9rfeRE™ (2) FEE

(3) e (4) €A

Who among the following has been appointed as the new Foreign
Secratary of [ndia ?

(1) Alka Sirohi (2) Dr. 8. Jaishanker

(3) Sujatha Singh {4} Chokila Iyer

Prefifa & & Reaer war fadw afva s e mr s ?
(1) oremr g (2) STo THo IA FihT

(3) g & (4) = @Y

Which company has reported profit which is highest even by a public
firm world- wide ?

(1) Flipkart (2) Amazon
(3) Apple Inc (4) Face Book

f&mzﬁmﬁrﬁmwaﬁm%ﬁrgﬁmw%ﬁmﬁﬁm
Furf ZYT T T FRQ T @At gaies ¥ 7

(1) PrwE (2) CHTEH

(3) oS 56 4) I TH

Olympion late Jaswant Singh Rejput was associated with which sport ?
(1) Badminton (2) Hockey

(3) Cricket (4) Football

o e orada g T T AT 9 T 7

(1) = (2) &t

(3) e (4} FEI

25 P.T.O.
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87.

BE.

Bgl

S0.

Who has been awarded 'Saurya Chakra' recently

(1) Prem Sharma (2} Manjeet Singh
(3} Sumer Singh (4) Veer Bahadur
mﬁﬁﬁﬁ‘sﬂdﬂm’mﬁfmw?

(1}t spgt (2) wrairer feim
(3} gAY fe (4) 47 Wy

Who has become first Jady to Jead first Inter Service Gaurd of Honouyr
in India ? |

(1) Arunima Singh {2) Seema Pur

{3)  Smiti Singh (4)  Puja Thakur

(1) 15 fus (2 = g

[) wify Ris (4} Iow STgT

Which award is the highest peace time Military honour ?

(1) Ashok Chakrg (2} Mahaveer Chakrg

(3) Paramveer Chakra (4)  Kiriti Chackra
sn%~mqﬁﬁﬁmww3§ﬁmﬁﬁwmmwt?
(1) ¥5TF = (2) == o

(3) YHER g (4) F)feE epp

(1] Sabana Azmi (2) Gulzar
(3}  Arundhati Subramaniyum (4) Javed Akhtar
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AN F e gea s BRE grEeT e o ?

(1) SEET ST (2) eI

(3) STHHRN FeHvgy (4} STeE STEY

Which Indian 'Common Man’ cartconist died in January 2015 ?
{1} R.K. Narayan (2} R.K. Laxaman

(3} Mario Miranda (4) Km. Kamala

Fre sl ‘&= A R @ Wl 2015 F fyge 8 ar 7
(1) e Po ARET (2) HATTo Ho WEHIT

(3) ARG frersr (4] o FwTT

What is the name of Barack Obama's bullet proof vehicle ?

(1) Fortuner (2) The Storm

(3) Beast (4} Cracodile

TF AN F AT -gF TE W o A B 7

(1} BRFAT 2) T =8

(3) = (4) ERIRISTEE

Who won the Miss Universe 2015 title ?

(1) Julia Ferdea (2) Niketa Barker

[3) Koyal Rana (4) Paulina Vega

P g 2015 @ Reame e Sier ? _

(1) e s (2) Fepar sTERT

(3) HEe Tow (4) 9refem™T
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94. 23rd January was cledbrated in india as the 118" Birth Anniversary
of which national leader ?
(1) B.R. Ambecar
{2) Ballabh Bhai Patel
(3) Netaji Subhash Chandra Bose
(4) Lala Lajpat Rai
e T A w118 A TR 23 SEad B wE § wATy way ?
(1) o HTo InAsHY (2) seww W g
(3) A7 W A w9 {4) TN AENT UG

95. 'Beti Bachao, Beti Parao’ scheme has been launched from which state ?
(L} Rajsthan (2) Gujrat
(3) Harayana (4) Delhi
forw T A 3 miel, & Qi dvomr @ ovew RBear T 7
(1) TSTRATH (2) TOTIE
(3) e (4) f<sh

96. Who would succeed Martin Pieters as the new CEO of Vodafone India ?
(1) Vinod Khosla {2) Arun Sarin
(3) Sukumar Dutta (4) Sunil Sood
A=TEE $Fr § MiET drewd Fr Swraferd ceo & B
(1) & dae (2) 3T §FHF
(3) FHAR T {4) giw g
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87. Which scheme of Central Government has been listed in Guinness

98.

99,

Worlds Records ?

(1) Pradham Mantri Jan-Dhan Yojan
{(2) National Rural Health Mission

(3) Janani Suraksha Yojna

(4] NNREGA

FET T H R Ao A Pl ot e & el R e 7
(1) 99 S9-49 JreEr 2) w=fg anfier w@meT s

(3) ST gEw g (4) &9, oM.

‘Hriday' scheme of Central Government is launched for which sector ?
(1) Heritage Development (2} Education

(3} Health of Workers (4) Employment

‘T’ WS T AT 4 G 3y B @t B Rie Rear mar ?
(1) wie-fawa @ fog (2) fimm & fag

(3) Tl P wWreen (4) T F farg

Who has been given social media person award of the year 2015 ?
{1} Arvind Kejariwal (2) Amitabh Bachchan

(3) Amir Khan {4) Shahrukh Khan

2015 &1 G Wfew yoes omE Rras o v 7

(1) T Heriar (2) AT F==

(3) <Y @™ . (4) MEEE @WH

29 P.T.O.
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lm.WhictﬂE of the following fitms has been awarded the best features film
in 60 National Fiim Awards ?

(1) Paan Singh Tomar (2) Barfi
(3) Son of Sardar (4] Talaash

604t I fres g GAIOE # Fret & & g R @1 wdiem
g feeT & qReme e ?

(1] 9 fHE d@FY (2) =TH

(3) 9 HAIF FET (4) ST

30 1,500
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ROUGH WORK
h &1l
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wvafe & forg e
fmgﬁﬁr%mmwwmm-w%aﬁgﬁw
@7 et &t aer- oy B7 B 8 fore)

T e e % 10 e 3 o ff S A 6 o F i ge e § ok o
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T F gH gfd a1
qdieT we | TRt W9 wdv-ax & sfvfiew, fan @1 A 9 9 gen w0 T
¥ 7 =
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13 !
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